TCSICATI2015
Chemlstry Aptitude Test — 2015 T

- Stage — III (Eor Class-XI) |
Full Marks : 50 ) S sze 1—30 haurs.

o

. Answer all the questlons There are 30 MCQ (1-30) in Group A, each of 1
mark. Each MCQ has been provided with four options. Shade the correct’
option with ball point pen in the appropriate box in the Answer-script. Multiple -
shading is liable to cancel the relevant answer. 0.25 mark will be deducted
for wrong answer to each MCQ. Group B contains 10 questions (31-40)
-each of 2 marks — answer these questlons in the space provided for in- |
the Answer-script. |

Sl )

. Group-—A 1x30-—-30

1. - Ifthe shortest wavelength in Lyman series of H-atom be x then the
longest wave length in Balmer series is — (H-+Raz Brum e
@ 36x/5  (b)5x/9 ©) 9/ () 3x/4.

2. The correct order of stability ofH,,H *andH,-i1s— (H,,H, ¥} -
H,~ 93 Yffeea As el =1 -) . S .
@& H,"<H,<H; (b) H,<H*<H,
(© Hy<H'<H, (@ H<H <H
3. Oxidation number of Cl—atom in NaClO 1S — (NaClO ﬁltﬂ‘ Cl

aaWﬂ\ﬂnm-) S
@ +1 ()43 (@) +7 (d) +5

4, Molar mass .o_f Na,§,0, and I, are M, and M2 respectively. What
will be the equivalent weight of them for the following reaction?
2Na,$S,0, + I, —> Na,§,0, + 2Nal. (Na,S,0, €% [, a7 =2
&g AT M, 8 M, 21 e Rt coca ol Svs e T -)
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10,

Iomc hydndc on reaction mthwater produoe (ﬂ!ﬁla%ﬁ:@eﬁr '

wmmmemam-) R
(a) acidic solution (b) alka]me solutlon
©) hydnde ion (d) proton.

The correct order of C-O bond lengtthO CO,2and co is-

(CO, CO,2axx CO wC—Ommnﬁemm-)
(a) C0-2<C0 <CO (b CO,<CO,2<CO
(c) CO<CO *’<C0 (d) C0<C0 <C0 =2,

Among the followmg compounds which can not produce CO on '

heatmg? cﬁﬂ%ﬂecﬁrﬂeﬁammﬁ msvweﬁwﬁe

@&’Nmm ) T
(8) Na,co3, (b) CaCO, (c) MgCO @ NaHCO,,

Whlch of the following is 2—methyl--2—cychohexene—l—ol

mmcﬁmﬁ 3-Fifzer- wﬂ?@nﬁﬂ SeE(e)

. Wh1ch compound does not glve Lass1gn S test for mtrogen -
(ﬁﬁmmcﬁnﬁﬂfi@wn mwﬁi{mwm ?)

(a) Acetarmde
(c) Amlme

(b) Hydrazme o
(d) meﬂlylamme

In which compound number of 6— and n— bonds are equal ?

B _(ﬁmmmﬂﬁteéen anw—)
‘.(a) /\( ®) C(CN)

. Paﬂﬁ*z’@‘?’ '

© Hpo (d) C(CHB)

37
(@ Benzene —_— Benzaldehyde
() Propene
- 38.

39,

-mmﬁwwwﬁmmmmﬁmwmﬁe o

nﬁ@cﬁmﬁa‘eﬂnw@mﬁﬁ ?ﬁﬁ*?ﬂ@ﬁ(ﬁ‘ll)

Convert the followmg (ﬁﬂﬁﬁ@ﬁmﬁw 2 —)

—> Propane 1- ol

Usmg VSEPR theory ﬁnd the shape of [SFClz]"‘ and [S O 4]‘“2
(VSEPR &% eme 0 [SFCLJ* @ [820 J7 aaorgfs ff 37-)

On monochlonnanon of ‘A, how many 1somenc chloro compounds
will be obtained ? Write the structure of the isomers. (‘A’ d@sif5a

ARG 2 T R R TR A A-)

o "
R I -
I

| Ifthe electronegatmty chﬁ‘erence between two elements A and B 1S

2.0, then calculate the percentage of covalent character in the molecule
A-B. (AeBciTmnvsﬁsmeWﬂmz 05 A—BWW '
wﬁsﬁmwwﬁcﬁm N '
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29

30,

The density ofa soluuonptepamdbydlssolwng 120g of urea (mol Mass
~ =60)in 1000 g water is 1.15g. ml™'. The molarity of this sol*is

(120 TSR 1000 amwrﬁwb:m TR m@1 15g. ml-.

Wmﬁﬁiﬁ—-

(@ 178M () 1.02M © 205M (d)OSOM _

’Ihetomcmobﬂltyofa]kahnmhonsmaq sol“lsmaxnnmnfor—

o (ﬁammmmmwﬁamﬁﬁ@m@ﬁm

3L

32.

(a) Na* (b)K+ . © Rb* - @L

~-Grbup B 2x10“'20

| N, is dmmagnetlc but N,"is paramagnetlc (N2\'ET?JW»UT‘ﬂtﬂ’tﬁﬂs
ﬁseN mmﬁem ?)Why‘? |

Why Kharash effect is s not observed during addmon of HI ?

| -HWmmmmwmm ?)

33
- why? (mqaiwﬁ@wﬁmmmv{ﬁ@ﬁtwﬁam«m?)
34,

Among phenol and ethanoic a01d Wthh oneis the most amdxc and

‘Boyle’s temperature (T;) of O, 1s 40K and that of H2 is 23K Wh10h
‘one is comparatively easily hqmﬁable ? (O,8H, Wmﬂm '
40K @ 23K. @ﬂﬁmww aﬁ%wm ?)

35. ‘When a]kah metals dlssolve in hqmd ammonia they glve blue colour

;.__.-Why‘? (WWW wﬁwwﬁtﬁﬁ@m ?)

3 6. “An aromatic compound A(CBHl o) produoe a d1carboxyhc acid on

 oxidation which on nitration yields only one mono nitro denvanve

o What isA. Write the reactlon. (ﬁﬁsﬁw QT A(CH, C‘) Wm
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1.

Smog' is formed, due 0 presence of —

-inthe atmosphei'e.

TS ST qaeoRfr e toR= )
(@ 0,and O, ~ (b) O,andN,
(© O,andN, (d) SO_and NO,

12

13.

14. :Whlchoneofthefo]lomngorderlsnotmaecordancewiththeproperty

stated against it ? [Giee mﬁam SRS RIS aa’eﬁa mm@ﬂ

(a) Propene |

The compound with molecular formula C,H, havmg only sp3 -.
hybridised carbon atom is — (C H, Wﬁm W‘GW sp®
R TG Q) - o
(b) Cyclopropane

(d) Propyne '

Whlch of the following sets is possible for quantum numbers ?

(c) Propane

| (ﬁtﬁamﬂmﬁ%mﬁmmwwm ?)
 (a) n=4, 1"3 m=-2,s=0
(c) n--—-4 =4, m=-2,s=+% (d) n=4, =3, m=-2, 5=+ +15

(b) n=4,1=4, m—+2 s=—-%2

R 7)

(a) SO < Cl (A01dlc strength)

o (®) F,> ClL, >B1- > 1 (Bond dissociation energy)

' () F, >C1 >Br >1, (Omdlzmg power)

15.

(d) HI > I-IBr >HCl> HF (Ac1d1c property in water)

The correct order of the ionic radii of the followmg is—

B (ﬁma@ﬂfewﬁawmaﬁem ?)
- (a) I->s~2>01->0-2>F-

() SPT>I>0>Cr>F
. © F>Cr> ._
@ I—>s-.2.>C1=->F->-0-2;_'

$2> 02> F-
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(a) ClF

7.

. W KO, 43 PR A W )
. @) L43BM 0)264BM () 241 BM

. ey (a) 4

Whmh one of the follomng has zero deole moment ? (ﬁtﬁa
(b) ClF (d) CFCl

The magnetlc moment of KO at room temperatune 1S— ('El@?l

‘(c) SlF

(d) L 73 BM

(b) 6 (c) 8 (d) 16

W/ 2y The IUPAC name of the followmg 1s -
(ﬁr‘ﬂﬁ?IUPACW?@-) T .

(@) 3—methoxyethyl propanoate

(b Ethyl-4- methoxybutanoaxe

GRS~ 1,4- d1ethoxybutane

" 20.

T (d) 4 methoxy ethyl butanoate

Ratlo of radii of second orbit of prohum (H) Deutenmn (D) andTntlum'
(D). (m(H),wma(D)mm(T)mﬁ%mW |

o e -)

' @ 123

21 Anoxide Ofmtrogen friws vapour denSIty 46, Find the total number

o of electronin its 92g. (N = Avogadro number). (ﬂmﬁﬁ «WTB

(b) 122232 -' (d)lll

wﬁmwﬂaww ‘mwz mmmimﬁaw N

@ 6N B N @F

. ':Pag.e4_o_f;7_' o

- <28 :"I‘he concentratlon of 10 Vol H 0 solutlon in % mass is— -

 @o%
~ density(d)as— (Wsﬁmqﬁﬂeaﬁfm(nns)fiﬁm"f "TW/*‘(d).”

Poss1b1e Geometncal 1somers of the follomng is— (ﬁm Cﬁf ﬂm
' L mofﬁamm-)

- 22, :Amongthe followmgpat dnoverlappmg comdbepresentm- .-

-2

2%,
-(a) CH CH (b) (c H,)3 (c) C H,Cl
" 27. Inborax, the number of B-O-B link and B-OH bonds present are
o _respectlvely (mm%ﬂfi‘@B O-Bf?ﬁdﬁtB OHWEEI—)
Y '(a) 5 &4 '

28.

(d) co 2

)_..

(b) 3 0% (c) 1% (d) 10% X

The rms veloclty of an 1deal gas at constant pressure varies WIth

®d O\ @

.A,BandCarethreeelementsfornnngacompomdmomdatlonstates  _

of +2,+5 and -2 respectively. Then the compound be represented as -

A  (A,B, Cwmﬁmmmﬁm}wmwwwm“'
S ReaR2.@be-) o
I}; - .I : (a) A3(BC) (b) A3(3C 4)2 (c) AZ(BC4)3

."3 ‘ +CHC1 —Y—->A+3Hc1 Als-—- .

(d) ABCz.

~AICI,
(@ (C Hs);gCH2

(b)S&S ) (c) 3&4 (d)5 5.

_ Mammmndewauonﬁ'om 1deal gasmexpected from—-
_(meaﬁiﬁmﬁ@—“) ' '

- 1(a) I-I_2

(b) N, (c) CH (d) NH,.
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